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1. Some large envelopes are 0.085 cm thick.
How thick is a stack of 100 envelopes
packed on top of each other?

@ 0.85cm © 85cm
' ® 850cm

2. Every school day, Dylan rides the school
bus 4.79 miles round trip between home
and school.

Part A

4. Match each expression on the left with

its product on the rlght
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Estimate the total distance Dylan rode
the school bus last month, when there
were 21 school days. Write an equation
to model your work.
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. Caden colored in the decimal grid shown
below. Which expression shows the area
of the grid Cadgm colored?

5. Ava bought 5.8 pounds of tomatoes
at a farmer’s market. The price of the
tomatoes was $1.30 per pound.

Part A

What are the partial products of
58 X 1.333 Show your work.
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How much did Ava spend in all?
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6. Choose all the expressions that are
equal to 0.48 X 0.3.
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14. One inch equals 2.54 centimeters. How
many centimeters is 10 inches?

[ ;QE,ﬁ[Qw ) -

15. A bowling alley charges $185 per
hour for parties. How much would a

2.5-hour party cost? ﬂ.ﬁ,}—_
725
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16. A forest preserve has an area of 1.6 square
miles, and 0.3 of the forest preserve is
open for hiking.
Part A
Shade the grid to model the multiplication.
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How many square miles are open for
hiking? Show your work.
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Part C
How does the model help you to find
the product?
' ™
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. Sarais buymg party supplies.

Paddle Ball $0.89
Balloon $2.99

Banner $4.99

Part A

How much will 5 balloons cost? ‘rf/ ¢/ 7_ T
Write an equation. "
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PartB

Sara wants to buy 15 paddle balls. She
uses partial products to find her total.
She says, “$25.50 is much more than
my estimate of 15 X $1 = $15, so my
estimate is too low." Do you agree?
Explain.

| o 0
{15 Paddle balls @ $0.89 each /
f|0xo.9=9 1D X ,507 :{?3,4‘?/
llox 08=8
> 7] L
5x09=45 S5 xX 09 e /5
5% 08=H /1L
59+ 48 + $480 + §4 = $2550 ff?
7 L 8
__________ < 7 £
e O g |§ !L/ o A

f - 4o ; o
“€r Lhined € )S Cowel —
hex aC/T?/‘ al a’ﬂqo,m”{ is
1914 r”i7 6%. f/(A[

,r‘mjf_{’c}!{ ol g,{"/,f e —fmfa
d( ///f‘ /)(:r [rb (DY o AL

/)

/

(/ (I‘LXI ‘:-" ""‘ ‘F”

N/"‘i: i: ..(V- (‘#C,) f//; :!‘ /'r ’
/ .

Copyright © Pearson Education, Inc, or its affiliates. All Rights Reserved. 5




